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Question Number : 1 Question Id : 6232175793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

A teacher meeting his students for the first time should

Options:



start teaching without caring interest
1.

_ develop rapport with the students

give broad outline of the subject
>,

, develop rapport with the students and give broad outline of the subject

Question Number : 2 Question Id : 6232175794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
All of the following statements regarding a teacher are correct except that he/she 1s.......

Options:

friend, guide and philosopher

) the leader of the class

the facilitator for etfective learning
3.

pouring the knowledge what she/he knows

Question Number : 3 Question Id : 6232175795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The first and necessary step in the teaching 1s
Options:

- organizing teaching-learning material

knowing the background of students

2



knowing the subject well
Sy

planning before hand
4,

Question Number : 4 Question Id : 6232175796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The development of a student’s personality 1s affected mostly by
Options:

_ teaching methods

subject-matter
2.

relationship between teacher and student
>,

student’s knowledge

4.

Question Number : 5 Question Id : 6232175797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The best method of teaching for different concepts 1s
Options:

; Dolton method

) Heuristic method

[ecture method

1

Personalized method



Question Number : 6 Question Id : 6232175798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Students can have direct experience 1n classroom teaching at the level of

Options:

1 Symbolic

i Iconic

Enactive

Didactic

4

Question Number : 7 Question Id : 6232175799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
If a teacher adopts religious teaching in the classroom, it amounts to
Options:

against the constitution

correct according to his religion
Z.

not against national spirit
=

not against the code of ethics
4.

Question Number : 8 Question Id : 6232175800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

If a student becomes unconscious suddenly in the classroom, what you do 1s

Options:



making arrangement to send him home
oving first-aid to him
report to the principal’s office

contact the parents of the student

Question Number : 9 Question Id : 6232175801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Teacher’s professionalism may be assessed in terms of all the following commitments

except
Options:

commitment to the parents and community
1.

commitment to the religion and caste
z.

commitment to the work and student

commitment to colleagues and office staft
4.

Question Number : 10 Question Id : 6232175802 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
A statistical hypothesis 1s

Options:

a statement reported to population parameter
1.

a statement related to research problem
z.



a statement made by principal investigator
s

a statement related to statistic

Question Number : 11 Question Id : 6232175803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

In a Research Report, Research gap analysis comes
Options:

after literature survey
L

before literature survey
z.

after collection of data

after the research methodology

Question Number : 12 Question Id : 6232175804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Review of literature from general to specific 1s called

Options:

Inductive

] Deductive

Chronological



) Overview

Question Number : 13 Question Id : 6232175805 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Research design does not contain the following aspect.

Options:

The nature of data required
1.

The type of data collection method

Type of techniques used for analysis
Need for the study

Question Number : 14 Question Id : 6232175806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
A measure of internal consistency, that i1s how closely related a set of items are as a group

1S

Options:

Chi1 square test
1.

) ANOVA

Cronbach’s Alpha

3.

Level of significance
4,



Question Number : 15 Question Id : 6232175807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The probability rejecting Ho when 1t 1s true 1s called

Options:

Tvpe one error
. ]

Type two error
2.

Level of significance
=

) Confidence level

Question Number : 16 Question Id : 6232175808 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The tull torm of DOI 1s

Options:

. Digital Object Identitier

Digital Observation Identification
z.

] Digital Object Identity

, Digital Order Identifier

Question Number : 17 Question Id : 6232175809 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The following 1s not a citation style.

Options:



APA

MLA

2

_ Chicago/Turbian

, Scopus

Question Number : 18 Question Id : 6232175810 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The tollowing 1s not included in the five ethics of research.

Options:

Informed consent
Respect for privacy
Proper citation to earlier works

Loyal to funding agency

4

Sub-Section Number: 2
Sub-Section 1d: 623217194
Question Shuffling Allowed : Yes

Question Id : 6232175811 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (19to 27)
Cuesticon Label | Comprehension



Read the following passage and answer the questions given:

Our times seem poised to witness the resurgence of the romantic vision of human life,
a view that underlines the importance of the spiritual by conceiving of life as a quest. In
such a view. there are many obstacles and difficulties along the way, but if the seeker
persists, then he or she will be rewarded by the union with a higher power or the spirit. In
contrast the rationalist vision is sceptical of all higher powers and exalted aims of life and
likes to show that all gods have clay feet. The romantic vision also emphasizes an intimate
connection between human kind and universe. between self and not-self while the
rationalist insists on an enduring separation between the two. He looks down at the
romantic view as a scientifically wrong and philosophically confused reaction to the
objective rift between mind and nature. For the rationalist. the romantic is engaged in a
futile and regressive revolt against the ‘bad news’ of the Enlightenment: Separateness.

As a broader intellectual and social current. the romantic resurgence is more
characteristic of Western societies than of most non-western ones where the romantic
vision never lost its ascendancy over the rational. Or. to put it more accurately, the Ur-
romantic vision of non-western societies generally remained oblivious of separateness and
this differs from the Western post-enlightenment romantic sensibility which has been

struggling to overcome the rift even as it has remained exquisitely aware of it.

Sub questions

Question Number : 19 Question Id : 6232175812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
What has been our observation of contemporary reality?
Options:

Rise of postimodernism
1.

3 Marxist ideology

Revival of romantic view of life

Democratic tendencies
4.



Question Number : 20 Question Id : 6232175813 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Which view challenges the spiritual seeker?
Options:

Life as a quest
1

) Faith in one God

Belief in pantheon of gods
3

Life is absurd and has no meaning
4

Question Number : 21 Question Id : 6232175814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
How does one define spirituality?

Options:

, Prayer for forgiveness
X Life after death

. Sinless actions

Union with a higher spirit
4

Question Number : 22 Question Id : 6232175815 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

What do you understand by “all gods have clay feet™?

Options:

Idols are made of clay
],

X Sceptical of all higher powers



Romantic view of gods
3

, Gods are earthly

Question Number : 23 Question Id : 6232175816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

What 1s the “bad news” of enlightenment for romantics?
Options:

Separation between the self and the non-self
1.

Intimate connection between man and the world
=z,

Science and philosophy coming together

Mind, nature and soul as one

Question Number : 24 Question Id : 6232175817 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

What 1s the characteristic of resurgence of romantic vision?
Options:

Eastern societies

African societies
=z,

. Western societies



. The Middle East societies

Question Number : 25 Question Id : 6232175818 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of the societies have never lost their romantic vision?

Options:

Western societies

The American societies

_ The European societies

Non-western societies

Question Number : 26 Question Id : 6232175819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Western post-romantic enlightenment 1s aware of the

Options:

importance of spirituality
1.

rift between the rational and the romantic

2.

existential dilemma
=4

cult of irrationality
4,

Question Number : 27 Question Id : 6232175820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Wrong Marks: 0

What 1s the central concept of the prose passage?

Options:

. Resurgence of Romantic vision

. Intellectual aspiration

Lack of spirituality

3

, Philosophical contusion

Sub-Section Number : 3
Sub-Section I1d: 623217195
Question Shuffling Allowed : Yes

Question Number : 28 Question Id : 6232175821 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which one of these must be avoidable for effective communication?

Options:

Politeness
1z

, Listening

Sharing of activity

, Ambiguity

Question Number : 29 Question Id : 6232175822 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

According to Eric Ashby the fourth revolution in communication 1s



Options:

Printing
1.

) Written word
. Home school

Electronics

Question Number : 30 Question Id : 6232175823 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
‘Synatactics’ 1s relating to

Options:

. principles of sounds

characteristics of language
i

rules of signs
=

) construction of sentence

Question Number : 31 Question Id : 6232175824 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

‘Anxiety tension’ 1s a behaviour in communication comes under

Options:

Physical barrier



Psychological barrier

Technical barrier
=

Cultural barrier

Question Number : 32 Question Id : 6232175825 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

‘Iconic Domain’ in the Edgar Dales Cone of experience 1s related to

Options:

Learning by doing
1. =

Learning through observation
z

Learning through abstraction
=

Learning by experience
4,

Question Number : 33 Question Id : 6232175826 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

The book ‘Human Communication Theory — A comparative Essays’ written by

Options:

T.R. Nelson

1

Edward Bono

Edward Berlo



Frank Dance

Question Number : 34 Question Id : 6232175827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
‘Semantics’ 1s a major branch of Linguistics which says about the
Options:

Study of origin of language
L

Structure of language
2.

. Meaning of language

Difference in the languages
4,

Question Number : 35 Question Id : 6232175828 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Technological literacy 1s a skill referred to the field of

Options:

. Industry

Education

Space science
=

Environment

Question Number : 36 Question Id : 6232175829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Wrong Marks: 0

Student Information System (SIS) 1s used for the maintenance of

Options:

student response system
1.

student data

2.

student attendance
=,

, display of examination results

Question Number : 37 Question Id : 6232175830 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

What 1s the number that comes next in the sequence?

2, 10, 30, 56, ;

Options:

84

L

72

2

. 90

100

4.

Question Number : 38 Question Id : 6232175831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which letters in the order will follow the blank spaces?

L N T B ;

Options:



L.J

z.N*L
. H,J
. P, N

Question Number : 39 Question Id : 6232175832 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

I[fa:b=2:3andb:¢c=7:9,thena:b:c=

Options:

Question Number : 40 Question Id : 6232175833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
If the sum of the squares of three positive numbers, which are in the ratio 2 : 3 : 4 1s 725,

then the sum of the numbers 1s

Options:

A

635



73
33

Question Number : 41 Question Id : 6232175834 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The average of A, B, C 1s 60. The average of A and B 1s 63,

then the value of C 1s

Options:

1 20

60

65
4. 55

Question Number : 42 Question Id : 6232175835 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
A’s income 1s 12% more than that of B’s income. Then B’s income is less than A’s income by

Options:

12%

1

102%
5D

102%

s 7



Question Number : 43 Question Id : 6232175836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
A man covers 1/4™ of his total journey by train and 2/3™ by bus and the remaining 20 km

by bullock cart. His total journey 1s km.
Options:

, 200
240

1 )
320

Question Number : 44 Question Id : 6232175837 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The average of x and y 1s 55 and the average of yand z1s 45. Thenz —x =

Options:

;. 10
, 20

15

Question Number : 45 Question Id : 6232175838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
An investiment of Rs X become Rs 3720/- in 4 years and it become Rs 4080/- m 6 years under simple
mterest. What 1s the value of X?



Options:

. 2,500

. 2,800
3,000

3

3,250

4.

Sub-Section Number: 4
Sub-Section 1d: 623217196
Question Shuffling Allowed : No

Question Number : 46 Question Id : 6232175839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The words in the bottom row are related in the same way as the words 1n top row. Find
the word and fill the blank.
Pallet, Easel, Brush

Text book, Lesson plan,
Options:

1 Artist pen

Report card
2.

Paint
=

) Teacher’s desk

Question Number : 47 Question Id : 6232175840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The words in the bottom row are related in the same way as the words in top row. Find
the word and fill the blank.

Daisy, Flower, Plant

Bungalow, House,

Options:

Building

Cottage
2.

Apartment
=

City

4.

Question Number : 48 Question Id : 6232175841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Sita 1s 8 years old. She has been asking her parents for a dog. Her parents have told her

that they believe a dog would not be happy in an apartment, but they have given her

permission to have a bird. Sita has not yet decided what kind of bird she would like to

have. Then which of the following is correct.

Options:

Sita parents like birds better than the dogs

L,

Sita does not like birds

Sita and her parents would like to move from the apartment
3.

Sita and her parents live in an apartment
4.



Question Number : 49 Question Id : 6232175842 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The following statement and courses of action are given. Identify which course of action
follows.
Statement: Severe drought 1s reported to have set in several parts of the country.
[. Government should immediately make arrangement for providing financial
assistance to these affected.
II. Food, water and fodder should immediately be sent to all these areas to save the

people and cattle.

Options:

Only I follows

Only II follows

Neither I nor II follows

Both I and II follows

4

Question Number : 50 Question Id : 6232175843 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Rama is in the East of Raju and Raju 1s in the North of Ranga. Rao 1s in the South of

Ranga then in which direction of Rama 1s to Rao?

Options:

1 South-East

. South-West

North-East
=



) North-West

Question Number : 51 Question Id : 6232175844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of the following diagram correctly represents lions, elephants and animals?

(QO)

WO

Question Number : 52 Question Id : 6232175845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

A river always has.......

Options:



Boats

1

X Delta

Fishes
=

, Banks

Question Number : 53 Question Id : 6232175846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Appalakonda pointing a photograph said “I have no brother, and that man’s father is my

fathers son”. Whose photograph was 1t?

Options:

His father
, His son

His nephew
5

; His own

Question Number : 54 Question Id : 6232175847 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
How many letter pairs in the word “PARADISE” one such pairs which contain the same

number of letters between them as they have in the English alphabets ?
Options:

2



Question Number : 55 Question Id : 6232175848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Study the following figure carefully and answer the question given below.

[0 — Hawd working workers
O — Union members

A —® Factory workers

The number of hard working factory workers who are also the members of the union 1s

Options:

15
14
30

16

Question Number : 56 Question Id : 6232175849 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Study the following figure carefully and answer the question given below.

[0 — Hawd working workers
O — Union members

A — Factory workers

The number of factory workers who are hardworking but not the members of the union, 1s

Options:

31

1

45

e

15

3

16

4.

Question Number : 57 Question Id : 6232175850 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Study the following figure carefully and answer the question given below.

[0 — Hawd working workers
O — Union members

A — Factory workers

The number of union members who are working 1n factory and are not hardworking 1s

Options:

13

12

2.



14

16

Question Number : 58 Question Id : 6232175851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The following tabular statement represents the performance of six students S1, Sz, Sz, S4, Ss and

S 1n an examination of various subjects as indicated. Study it carefully and answer the question

below.
Subject Maths Physics Chemistry English General
(Total marks |(Total marks| (Total marks | (Total marks Education
Student 200) 100) 100) 100) (Total marks 100)
S1 184 72 85 85 57
S 140 80 81 i) 84
S3 131 74 90 81 87
S4 195 68 76 96 91
Ss 138 78 91 T2 81
Sé 165 82 93 60 76

The two students who got equal number of marks in all the subjects put together are

Options:

1

z

Sl El]:ld S3

83 and Sf,

. Si1 and Ss

S, and Ss

Question Number : 59 Question Id : 6232175852 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0




The following tabular statement represents the performance of six students Si, S2, S3, S4, Ss and

S¢ 1n an examination of various subjects as indicated. Study it carefully and answer the question

below.
Subject Maths Physics Chemistry English General
(Total marks [(Total marks| (Total marks | (Total marks Education
Student 200) 100) 100) 100) (Total marks 100)
Ss 184 2 85 85 < )
S» 140 80 81 3 84
S3 131 74 90 81 87
S4 195 68 76 96 91
Ss 138 78 91 12 31
Se 165 82 93 60 76

The percentage of marks obtained by the student Sz 1n all the subject put together 1s

Options:

92

1.

Question Number : 60 Question Id : 6232175853 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0




The following tabular statement represents the performance of six students Si, Sz, Ss, S4, Ss and

S¢ 1n an examination of various subjects as indicated. Study it carefully and answer the question

below.
Subject Maths Physics Chemistry English General
(Total marks|(Total marks| (Total marks | (Total marks Education

Student 200) 100) 100) 100) (Total marks 100)

Si 184 72 85 85 <7

S 140 80 81 3 84

S3 131 74 90 81 87

Sy 195 68 76 96 91

Ss 138 78 g1 72 81

Se 165 82 93 60 76

The student who got the highest number of marks in basic sciences, 1.e., Maths, Physics

and Chemistry.

Options:

Sé6

Question Number : 61 Question Id : 6232175854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The following pie chart indicates the monthly budget of a tamily.

Food 25%
Clothing 15%
Conveyance 10%
House rent
Health 20%
Saving 10%

trd
solleslioll@i==le

Based on the above information, answer the question below.
If the total monthly income of the family is X 25,000, then how much amount 1s spent on

house rent per month, in rupees?

Options:

. 2,500
i 3.000
. 4,500

. 5,000

Question Number : 62 Question Id : 6232175855 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The following pie chart indicates the monthly budget of a family.

Food 25%
Clothing 15%
Conveyance 10%
House rent
Health 20%
Saving 10%

trd
ssliesliwii@livelis2

Based on the above information, answer the question below.
If the annual income of the family 1s X 4,20,000, then the total amount spent in rupees, per
month on clothing and house rent, put-together is

Options:

12,000

12,250
_ 9,500

. 11,500

Question Number : 63 Question Id : 6232175856 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The following pie chart indicates the monthly budget of a family.

Food 25%
Clothing 15%
Conveyance 10%
House rent
Health 20%
Saving 10%

trd
ssliesliwii@livelie-

Based on the above information, answer the question below.
If the half yearly expenditure on clothing by the family is 18,396 rupees, then the total

monthly income of that family will be, in rupees

Options:

1 40,440

45,000

92,300

, 48,450

Sub-Section Number: 5
Sub-Section 1d: 623217197
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 6232175857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of the following 1s not true about RAM?

Options:

RAM is a temporary storage area
1.



RAM is volatile

z

RAM is the same as hard disk storage

=

, Information stored in the RAM 1s gone when you turns the computer oft

Question Number : 65 Question Id : 6232175858 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The tfollowing 1s not considered as secondary storage.

Options:

. Floppy disk

Optical disk

2

. Hard disk

Flash disk

Question Number : 66 Question Id : 6232175859 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The full form of WAN 1s

Options:

Wide Area Network

1

i Wide Antenna Network

World Area Network

2



Wide Arial Network

4

Question Number : 67 Question Id : 6232175860 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

What 1s the name of web page address?

Options:

. Directory
. Protocol

Domain

URL

4.

Question Number : 68 Question Id : 6232175861 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

NMEICT stands for

Options:

National Mission on Education through ICT
1

National Mission on E-governance through ICT
2.

] National Mission on E-learning through ICT

, National Mission on Evaluation through ICT

Question Number : 69 Question Id : 6232175862 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Which one of the following 1s not a search engine?

Options:

Google
1.

. Chrome

Yahoo

&

, Bing

Question Number : 70 Question Id : 6232175863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
A compiler 1s a software which converts
Options:

. characters to bits

high level language to machine language
z.

machine language to high level language

. words to bits

Question Number : 71 Question Id : 6232175864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Computer virus 1s a

Options:

1 Software

Hardware
2.



. Bacteria

) Firewall

Question Number : 72 Question Id : 6232175865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The following 1s not an initiative of E-governance.

Options:

G2G

L,

. @

G2B

o

G2D

4.

Question Number : 73 Question Id : 6232175866 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The horizontal transport of any atmospheric property by the wind 1s

Options:

Advenction
1.

. Radiation

. Conduction

Retlection
4,



Question Number : 74 Question Id : 6232175867 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The chemical which causes ozone depletion 1s

Options:

Chloro Fluro Carbons

Dioxins
=z,

_ Polyphenols
, Rayon

Question Number : 75 Question Id : 6232175868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The movement “Beej Bacho Andolan” was for the conservation of

Options:

. Trees
] Shrubs

Crops

3

Dogs
4,

Question Number : 76 Question Id : 6232175869 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The source of energy in an ecosystem 1s

Options:



D.N.A.

_RNA

. Sunlight

Water

Question Number : 77 Question Id : 6232175870 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Greenhouse effect 1s caused by

Options:
increase imn O»
1.

increase 1 CO»
Z.

decrease 1n O»
=,

decrease in CO»
4,

Question Number : 78 Question Id : 6232175871 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Normally, rain water 1s slightly
Options:

pure

acidic
zZ.



toxic
=

) basic

Question Number : 79 Question Id : 6232175872 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The thickness of ozone layer 1s measured in

Options:

2.

Nm
=
; Hg

Question Number : 80 Question Id : 6232175873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The full form of CTBT 1s

Options:

Comprehensive Nuclear Test Ban Treaty
s

e omprehensive Test Bank Trust

Comprehensive Tree cutting Ban Treaty
=

, Comprehensive Test Based Temperature



Question Number : 81 Question Id : 6232175874 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

In an ecosystem bacteria are
Options:

producers
1z

consumers
Z.

decomposers
3.

suppliers
4,

Question Number : 82 Question Id : 6232175875 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Which of the following commuttee first talked about the relationship between academic

work and productive work?

Options:

. Sargent Commuttee
Khere Committee

Zakir Hussian Commuittee

Jnanam Commuittee

Question Number : 83 Question Id : 6232175876 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Ethic and aesthetics are components of

Options:



Ontology
1

, Cosmology

Epistemology

3

Axiology

4.

Question Number : 84 Question Id : 6232175877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Another name for Basic Education proposed by M.K. Gandhi 1s

Options:

. Wardha Education plan

Free and Compulsory Education

. Vocational Education

Primary Education
4.

Question Number : 85 Question Id : 6232175878 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The launch of satellite channel by IGNOU for technological Education for the growth and

development of Distance Education 1s called

Options:

Chandrayana-1

_ Eklavya channel



PSI.V-3
=,
Gnandarshan channel

Question Number : 86 Question Id : 6232175879 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
National Assessment and Accreditation Council (NAAC) 1s an autonomous institution

established under the aegies of

Options:

 UGC

_ ICSSR
CSIR

AICTE

Question Number : 87 Question Id : 6232175880 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Autonomy in Higher Education implies freedom 1n
Options:

) Policy-making

Curriculum development
2.

Financial management
5



Administration

Question Number : 88 Question Id : 6232175881 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The recommendation of National Knowledge Commission s to fulfil the aim of to

Options:

create more teaching jobs

replace the private managed higher education by public nstitution
2.

enable students to move trom rural to urban

ensure to increase number of student enrolment in higher education
4,

Question Number : 89 Question Id : 6232175882 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which among the following is NOT a Central University

Options:

Nalanda University

Assam University

23
Kurukshetra University
3
Guru Grhasidas Vishwavidyalaya
4.

Question Number : 90 Question Id : 6232175883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



India’s first Defence University was established 1n the state of

Options:

. Andhra Pradesh

] Punjab

Haryana
>,

Uttara Pradesh

4
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Question Number : 91 Question Id : 6232175884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Question Number : 92 Question Id : 6232175885 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Question Number : 93 Question Id : 6232175886 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Question Number : 94 Question Id : 6232175887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Question Number : 95 Question Id : 6232175888 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Question Number : 96 Question Id : 6232175889 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Options:

Question Number : 97 Question Id : 6232175890 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
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Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
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Question Number : 99 Question Id : 6232175892 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Question Number : 100 Question Id : 6232175893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

ARV ST SRITH 7

HIUT:

1.




Question Number : 101 Question Id ;: 6232175894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Question Number : 102 Question Id : 6232175895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Question Number : 103 Question Id : 6232175896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
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Question Number : 104 Question Id : 6232175897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
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Question Number : 105 Question Id : 6232175898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Question Number : 107 Question Id : 6232175900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

BTG AIUT Bid fQert?

Options:

1_ CECICLENG!

wfyenfy
EGIEEIE!
Byfenfy

4.

&2

B

Question Number : 108 Question Id : 6232175901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
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Question Number : 109 Question Id : 6232175902 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Question Number : 110 Question Id : 6232175903 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
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Wrong Marks: 0
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Wrong Marks: 0
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Question Number : 113 Question Id ;: 6232175906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
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Question Number : 115 Question Id : 6232175908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

SIGUE A=FEdD] fafe: BT Wafd?

Options:

Scqfifafe: |

L




_ YT |
4IHIIIHHI |

Question Number : 116 Question Id : 6232175909 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Question Number : 118 Question 1d : 6232175911 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
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Wrong Marks: 0

AchIddle 3U<l: Ul B DITAH?

Options:

ROV A |

1

I FIHUY ] |

2

IHIHY] Fd |

3



qad |

4.

Question Number : 120 Question Id : 6232175913 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Wrong Marks: 0

AR T qReIHUU Bicide:?

qo<idel: |




Question Number : 122 Question Id : 6232175915 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

IRToITeREdl el &:7

Options:

o5V

[

)
x:
3
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Wrong Marks: 0
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Question Number : 125 Question 1d : 6232175918 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 126 Question Id : 6232175919 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Question Number : 127 Question Id : 6232175920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Question Number : 128 Question Id : 6232175921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Question Number : 129 Question Id : 6232175922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Question Number : 130 Question Id : 6232175923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Question Number : 131 Question Id : 6232175924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
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Question Number : 133 Question Id : 6232175926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Question Number : 134 Question Id ;: 6232175927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
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Question Number : 137 Question 1d : 6232175930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 141 Question Id : 6232175934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Question Number : 142 Question Id : 6232175935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 143 Question Id : 6232175936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Question Number : 149 Question Id : 6232175942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 155 Question 1d : 6232175948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
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Question Number : 156 Question Id : 6232175949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Options:

Question Number : 157 Question 1d : 6232175950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 158 Question Id : 6232175951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Options:

Question Number : 159 Question Id : 6232175952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

«Iel: »gdd b: UI: 7

Options:

, WY

€lo]

b



Question Number : 160 Question Id : 6232175953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
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Question Number : 161 Question Id : 6232175954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
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Question Number : 162 Question Id : 6232175955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Options:
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Question Number : 163 Question Id : 6232175956 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Question Number : 164 Question Id : 6232175957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Question Number : 165 Question Id ;: 6232175958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 166 Question Id : 6232175959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Question Number : 167 Question Id : 6232175960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 168 Question Id : 6232175961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



STHGHRIIAIRINU] Idd: JIHAAR: $: 2

Options:

TOUIAR:

BHICR:

=SRUICICIIRE

Aodldaly:

4

Question Number : 169 Question Id : 6232175962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
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Question Number : 170 Question Id : 6232175963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Options:




[N

SRR |

 [EYgrdde |

A< |

T BICD |

4

Question Number : 171 Question Id : 6232175964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Question Number : 172 Question 1d : 6232175965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
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Question Number : 173 Question Id : 6232175966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Options:
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Question Number : 174 Question Id : 6232175967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Question Number : 175 Question Id : 6232175968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Question Number : 176 Question Id : 6232175969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
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Question Number : 177 Question Id : 6232175970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Options:
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Question Number : 178 Question Id : 6232175971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 179 Question Id : 6232175972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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Question Number : 180 Question Id : 6232175973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
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